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Q:1 Choose the most appropriate answer and fill in the
blanks:

If youwantmeto_____ and watch you suffering then it
is not happening.

1. stand by

2. stand apart

3. stand for

4. freeze

Q:2 Choose the most appropriate answer and fill in the
blanks:

He _ the probability of India winning the match.
1. laid down

2. held off

3. putin

4. looked at

Q:3 Choose the most appropriate answer and fill in the
blanks:

The furniture that we saw in the mall today was a
________costlier than these.

1. Few

2. More

3. Little

4. Much

Q:4 Choose the most appropriate answer and fill in the
blanks:

The Neo-clean consumes very little electricity and
automatically ____ the battery mode in case of
power failure.

1. changes to
2. changes at
3. changes for
4. changes on

Q:5 Choose the most appropriate answer and fill in the
blanks:

Children who do not receive enough attention may begin
to

1. play out
2. play up

3. ask over
4, fade on
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IAnswer Key

1.(1) 2. (4) 3.(3) 4. (1) 5. (2) I

Q:1 The correct answer is option 1 i.e. stand by.

The sentence needs an appropriate phrasal verb to make
the sentence coherent.

Meaning of the phrasal verb 'stand by’ is 'do nothing'.
That is why this suits best here.
Hence, option 1 is correct.

Q:2 The correct answer is option 4 i.e. looked at.

The reason why this option suits best in the given blank
is its meaning i.e. considered.

Rest of the options are irrelevant as per the sentence
context.

Hence, option 4 is correct.

Q:3 The correct answer is option 3 i.e. little.

The given sentence requires an appropriate filler of an
adjective.

The most suitable adjective in the given sentence is
'little'.

Hence, option 3 is correct.

Q:4 The correct answer is option 1 i.e. changes to.

The sentence requires an appropriate preposition to
make the sentence coherent.

The correct preposition is 'to' as this preposition is
used when indicating that there is movement from one
place to another or a change in something.

Hence, option 1 is correct.

Q:5 The correct answer is option 2 i.e. play up.

The sentence requires a suitable phrasal verb (as all the
options signify).

The reason why ‘play up' seems to be the most suitable
option because the meaning of the phrasal verb is
‘'misbehave’.

Hence, option 2 is correct.
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